M8x40 - 1x
Méx16 - 2x
M12x1,25x40 - 6x

M12x50 -
M12x70 -
M12x90 -
MI12x19 -
M12x20 -
M12x25 -

4x

2% (A)
2x (1)
4x (C)
3x (V)
1x (V)

SM8 - 1x

M6 - 2x
M12 - 6x (A, )
M12 - 4x (C, V)

PP6 - 2x
PP12- 12x (A, I) ) BP360 - 5x
PP12- 14x (C, V) Pl

M12x90 (10.9) - 2x
I 110 Nm!

IC 325122

DETAIL

w A=1701C
A=185V
B=40IC
B=60V

M12x1,25x40
M12x50

63’@/
HYUNDAI SANTA FE

Kéd: H1215(ALCV) 2.1.2025 /~\




